SH7EEBELSBES ZIE &S
ST EEREFTHECHFIELEBETIENDERYEDELI-OT, BHLELET,
1-BEEFBESE
12 3 ¥ 18 (8K &71=Y) 9,920 M |BXRELVEL
— % % X B 18 (8K &71=Y) 7,760 M |BXREIHELGL
2-BEBEAAHECHERR)

£ E 3 £ B A & % 1 =
B ] 1f8 35V 650 H BiEEHNEIX1FEH-Y830H
3 T 10a & 1= U 4000 M |A—4%1)—%t
¢ = 10a & 7= U 5500 H [(#MEAKEEZET
H /] Fi 10a & 1= U 7000 H (AXL—53—1F
X ® 2 y # | mEfyY 35 M
e ., 12,700 M |#EBERHY ((HEFS)
a2 INA 2 N Y 10a & 7= U 11600 M @&AL
s I ” z ¥ 60kg 1,100 M |7K57318%LLTF
¢ Y 1,400 A |/k518%LLE
£ T 10a & 1= U 4000 M |A—4%1)—%t
Ml avzomum | sy 0T B sy s—tt
T F — )L IR 18 (8BS L 1=Y) 10,600 H
S nRE LIRS | 10257y 47000 M |BYRYDH
cU 2 Fv—HREl - R m3AH -V 38 M |EZEDIEEZ110cm
H iz 10a & 1= U 2,600 M |[F5O8/NT—TRY
g E—TFICLBNMER | 10a Y = Y 2,600 M
P £ = &k Bx 10a & 1= U 1,300 M |1[=]
W B2 F H = 10a & 1= U 3800 H [S5vInHa:11E850M M (EZ90cm)
L —35— (2 & % E 1@ H7-Y 2,600 M |2tLLN
JO—KFxXx¥ X452 — 10a & 1= U 800 A |EXEM
YT AT LvyvAE— 1t Y = Y 1,600 M |H#AEEH
O—UN—RRA—([Z & BN E 10a & = U 10,400 A [FMY-E58A2L

XCDBEMRDFEBEE - BT ANGE L, HETLESEMBTI

MEOEMORR EEXFHFICIVELGS-O. FHlITZEAET

KIERWEWIE, TR TEERFHDEMTI

TH7EFEIFLH T REHFERI (BE6: M)

REDS% . EH TS,

h &

Hhig; 2, H(10azif=l)) Ml (10azx37=l))
FiEE = 58 xIKEE £ Fi448 =58 xIEEE £
RALET 28 1,600 15,400 2,000 171 1,200 15,000 4,000 157

X ESEDIFHE. FHMA4F1ANLTHMOF12AF TEERIEROERMEFRE/EZNDODERETY,
KX PEMDIKRICEY, BGYFTOT, FMllE. HFFHBEDOIZ . ED TS,

SH7438

RILBTREER

A
=

[(BELEHEE]

RILETRXZERFHR

TO039—2696HILATFIE/;RIL1—94

TEL:0176—56—2685 (& &)




